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Execution Flows
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Algorithm

Flows « a; € A if R, =0
if |[Flows| > 1 then
tree « Parallel(get_tree(a;, 0), Va; € Flows))
else
tree « get_tree(a,;, 0), a; € Flows)
end if
function GeT_rtreE(a, US)

US«USVa
W e ajeAifa; € Rg,a; ¢ US
Succe—a; €A ifa; taa; €E,
if |[a = | == 0 then
if W £ 0 then
return Sequence{Wait(a;), Action(a)), Va; € W
else
return Action(a)
end if
else if |a — | == 1 then
Wait(a;),Ya; € W
return chucncc( Action(a), )
get_tree(a;, US),Va; € Succ
else if |a; — | > 1 then
Wait(a;),Ya; e W
rctumchucncc( Action(a),
Parallel(get_tree(a;, US),Ya; € Succ)
end if

end function
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